2 digit addition (with and with no regrouping)

Add the numbers and write down the correct answer
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1 , 6l 2 . 4 3 . 30
59 66 91
' ™ ™
4 + 88 3 . 44 9 L 9%
85 80 82
4 %N = 55 w,
Y Y
7 . 54 8 . 48 9 , 25
50 50 71
™ ) ™
10] . 28 11 + 59 1) + B
82 48 35
' ™ '
B, s uo L 46 s, 97
33 40 66
™\ ™\ ™
1¢) . 93 17 . 58 18] L 46
58 74 92




Ritge/uaw. shinomath_som,
™ ™ ™
Y , 6l 2 L 47 3 , 30
59 66 91
120 113 121
' 4 ™
4 e 18R 3 , 44 9 L 96
85 80 82
173 124 178
™ ™ ™
7 . 54 3 . 48 9 w 98
50 50 71
104 08 96
™ ™ '
10f . 28 1 . 59 12 L 45
82 48 35
110 107 80
™ ™ 4
13 g 155 14 . 46 13] . 97
33 40 66
88 86 163
™ ™ ™
16] . 9 17) , 58 18 L 46
58 74 92
151 132 138




